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21 mitemsetrb OO0 O0OOOOOOO

000000000000 000000000 (DOD0D0O0D0O00O0D)000000000000OD00O00O0OO
LCM(Linear time Closed itemset Miner) 0000 00O [1, 3]0
gbooboboboooooooboooo

goooooooooobooooooooooooooboooooooooooooobooooon
oobooooooooobooooboooobooOooOooooOoOooboboOoobooOoooon

000000000 (taxonomy) 00000000000

0000000000000 0000O00D00000DO0O0D (D00DOO :emerging patterns) 00000
ooboooo3oooooooooboooboon

oooooooo0oooon0 21,22230000000000000000000000000000000000O0
0000 keyDDOOD (0 21)0000000000000000OMCMDOOOOO0O mtraOJ0O0O mtraflgOO
000000000000 keyOODODOOODODOOOODODOOOOO

0210000 keyOOOOOOOODOOOOOO 22230000000000000000000000000
cobobooooooooboooboooooooooobooooooooooooooooooboOoobooooooOoa
coobooooboooobooooooboooooboo

021 keyOQOQOO 022 tra0000O 023 0O0O0O0O0OO
key item id  item d A B C D E F
T1 C T1T CE T1 1 1
T1 E T2 DEF T2 1 1 1
T2 D T3 ABDF TS 1 1 1 1
T2 E T4 BDF T4 1 1 1
T2 F T5 ABDE TS5 1 1 1
T6 ABDEF T6 1 1 1 1

0o00O0000

000D000000000000 (0000000)0000000000000000000000000000
00000000 22000000000000003000000000000 {BD,F}0 T3,T5T60 3000
0000000000000000000 {B,D,E}0 T5T60200000000000000000000000
0000003000000000000000{A}, {A,B}, {A,B,D}, {A,D}, {B}, {B,D}, {B,D,F}, {B,F}, {D},
{D,E}, {D,F}, {E}, {F} 00 1300000
0000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000

00000000

0000000000000000000000000000000000000000000000000000
00000000000000000000000000 1300000000000000¢A,BD},{B,D,F},{D,E}
03000000000000000000000000000000000000000000000000000
00000 300000000000000000000000000000000

gooooobood
gobogobooobooobooooooobobooobooobobobooboobooboboobUoboDbUoDbo
goooobooogooobobobooooobobboooooboobbobboooobboooobobobboooobobboo
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0000000000000000000000000000000000000000000000000000
0000000000000000000000{A},{AB},{AD}{ABD}OOO T3,T5T6000000000
000000000000000000000000000000000 {ABD}000O0O0O0O0O0OOOOOO
{A}{AB}{AD} 000000000000 O0O0O0O0OOOOO002400070000000000000000
0000000000000000000000000000000

024 00O00C0O0OOO

oooo ooooooooodo oOoood

{A,BD} T3,T57T6 {A}.{A,B},{A,D},{ABD}
{B,D}  T3,T4,T5T6 {B},{B,D}

{BD,F} T3,T4,T6 {B,F},{B,D,F}

{D} T2,T3,T4,T5,T6 {D}

{D,E} T2,T5,T6 {D,E}

{D,F} T2,T3,T4,T6 {F} {D,F}

{E} T1,T2,T5,T6 {E}

goobogo

0000000000000 00000000000000000000000O0 (DODODO0OOo0oO0oooD)O
goboobobobobooboobbooboobobooboobobooboobobobboobboobbooboo
gooooobooboooboobooobobooboobboooboob bbb bobboobbobDbooboo
ooopooOo0ooo0 1gooboooobo0oooooooo 25000000000 DOO0ODOO0ODOOOOOOO
gooooboobooboobooobboobooobbooboobbooboobboboboobbo

025 keyOQOQOO

key item class
T1 C pos
T1
T2
T2
T2

pos
neg

neg

Sl Clwllcs

neg

gooo

0000000000000 oUUooooo somlobDODODOO
goooooooooomobobdooddgguoboobobboooddddooooooooo o obooo
OO000U0oooomoooosmlD0f000000000000oooOOo000DUoDUooDOoOooOoOooooO
0000oo0ooodoooooobDdooooooodooooooooooooooo 1gooo0obooooooon

0000000000000 000000000000000000 (02.7)000000000 (0D 26)0000
000000000000 00 (0D 28)0000000 (029 000000000000000000O0O0O0O0OOO
dddddooooooooooooobobobobobbobbooooddddddooooooooooooooboon
00000000 280000000000 {AX}DO T3, 15, T60 3000000000000 X0O00O0O0O ADO
000000000ooooooDooooo000000000000o0oo00oooDoo000000d nysol ZDD OO
000 (http://www.nysol.sakura.ne.jp/zdd/jp/) 00000000


http://www.nysol.sakura.ne.jp/zdd/jp/
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020 0000

026 0000

id item

TT CE

T2 DEF
T3 ABDF
T4 BDF
T5 ABDE
T6 ABDEF

od

027 item-00000 028 000O0ODOOO
item taxonomy id item
A X TT CEYZ
B X T2 DEFZ
C Y T3 ABDFXZ
D Z T4 BDFYZ
E Z T5 ABDEXZ
F Z T6 ABDEFXZ

029 0O0OO0O0OO0OOOO

id

T1
T2
T3
T4
TS
T6

item
Y Z
7

X7Z
Y Z
X7Z
X7Z

0000000000000 00000O000000DO0000D00D00O0O0000O0D (patterns.csv)0O
0000000000000 0000D000000000000D000000 (tid_pats.csv)00O00O0OOO

O000000o0ooo0ooOoooOo csvooooooooo 21000 2.120000000000000

0 2.10 patterns.esv 000000pid000O000O0OOOOO
000000 ID0O0size0 00000000000 ODOODOOOO
go0b0O0d0Ocount 000000 DOOODOOODOOODOO
00000 total 0000000000000 OOsupport 0000
OO0Ocount/total 0000000t 00000000000 DOO
go0o00oo0o0O000DO0O0oDO00DO0000 patternOODOO0O
goooobooooooobobobooooboogo

pid size count total support lift pattern
1 1 5 6 0.8333333333 1 D
7 2 4 6 0.6666666667 1.2 DF
6 1 4 6 0.6666666667 1 F
4 1 4 6 0.6666666667 1 E
2 1 4 6 0.6666666667 1 B
3 2 4 6 0.6666666667 1.2 BD
8 2 3 6 0.5 1125 BF
13 2 3 6 0.5 1.2 AD

000000 I = {1, 42,

211 00O

mitemset.rb i= [x=] [0=] [tid=] [item=] [class=] [taxo=] [s=[S=] [sx=[|SX=] [1=] [u=]
[p=] [g=] [top=] [T=] [--help]

taxo=

i,y 00000 Lft(/) 00000000000

lift(I)=

Pr(I)

[
Pr(i
k=1 r(zk)

keyOUOOOOODOODOODODOODOOOOO
gobgooboobbooboo
gboooooooooboboboooo
O00000O00D00OO :default=./take_#{0 000 }0
goboobod ipobogoooo
0000000 (i=,x=00000)000000 :default="item"O
000000 (e=OOOODO)H)OODODODOOO
gboooooobooboboboooooooogoo
goboobooobon :x=0

0 2.11 tidpats.csv OO OO O
tid000O0OO0Ooooo IDboo
tid=0 00000000000
go0o0oooooooooooo
Jjododddoooooooooo
ooooooooo ID O pid O

ooooooo
tid
T1
T2
T2
T2
T2
T2
T3
T3

pid

GOy N =

10



2.1 mitemset.rb OO0 000000000 11
0212 0000000000 patterns.csv0O00O00OclassO00000000000O0OOOOOOOOOOOO
000000000000 Opid,pattern,size,total 00 2.10 00000 00pos 00000000000 OO0
000000000 0Oneg0 00000000000 00ODODOO0OO0OODODOOOposTotalnegTotal 00O
gobObooOOo0O00oooobbboo0o0o0UooobObbobooUOUswpport oo oooog
pos/posTotal 0 0 0 00 OO growthRate 0 O 0O 0O O Osupport/(neg/negTotal) 0000 O00DODOO0OODOO
00000 infO000000000000000000000000000000000000O0 postProbO 00O
0000000000000 00000000O00growthRate 000 0000000000000 ODOOOOO
goooboOo0oOoO0bObO0obOOoOoDOoUooD 1boooooo

class pid pattern size pos neg posTotal negTotal total support growthRate postProb
cls2 13 AE 2 2 0 2 4 6 1 inf 1
cls2 15 ABE 3 2 0 2 4 6 1 inf 1
cls2 10 ABDE 4 2 0 2 4 6 1 inf 1
cls2 14 BE 2 2 0 2 4 6 1 inf 1
cls2 17 ADE 3 2 0 2 4 6 1 inf 1
cls2 18 BDE 3 2 0 2 4 6 1 inf 1
cls2 12 ABD 3 2 1 2 4 6 1 4 0.6666666667
cls2 1 AD 2 2 1 2 4 6 1 4  0.6666666667
cls2 16 DE 2 2 1 2 4 6 1 4  0.6666666667
type= 0000o0bO0oOoobOouobogn: default=FO

F:00000000, c:00booooo, Mm:goboooooa
s= oo0oooo (@OoHh)oouoog :s=, 8=0
S= oooooo (@moHh)oooog::s=, 8S=0
SX= oooooo @o)ooooooo
SX= oooooo (@mo)ooooooo
1= 00D0000Oo0oooooobooooo
u= gobooboobobooboobooo
pP= 000000000000 Db000000 :default=0.50
g= goboobooboboobbooooboo
top= 000000000 Db0o0b00n0O0d :default:00000O
T= 00D0OO000OoOooooOooooo

—help 000000

212 00O

Ol Oooo
jJ0000O0O0U0oOoOoOoOoooOoooooooo

$ more datl.csv
tid,item
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$ mitemset.rb S=3 tid=tid item=item i=datl.csv O=resultl
#MSG# 1lcm_20140215 FIf /tmp/__MTEMP_96064_70346946698540_0 3 /tmp/__MTEMP_96064_7034694669
7820_0
trsact: /tmp/__MTEMP_96064_70346946698540_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 5 ,size 20
output to: /tmp/__MTEMP_96064_70346946697820_0
separated at O
iters=8
14
1
5
6
2
trsact: /tmp/__MTEMP_96064_70346946698540_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 6 ,size 21
output to: /tmp/__MTEMP_96064_70346946697820_1
separated at O
iters=7
6
0
6
#MSG# output patterns to CSV file ...
#MSG# the number of patterns enumerated is 13
#MSG# output tid-patterns ...
#MSG# The final results are in the directory ‘resultl’
#END# /usr/bin/mitemset.rb S=3 tid=tid item=item i=datl.csv O=resultl
$ more resultl/patterns.csv
pid,size,count,total,support,lift,pattern
1,1,5,6,0.8333333333,1,D

7,2,4,6,0.6666666667,1.2,D F
6,1,4,6,0.6666666667,1,F
4,1,4,6,0.6666666667,1,E
2,1,4,6,0.6666666667,1,B
3,2,4,6,0.6666666667,1.2,B D
8,2,3,6,0.5,1.125,B F
13,2,3,6,0.5,1.2,A D
5,2,3,6,0.5,0.9,D E
12,3,3,6,0.5,1.8,A B D
11,2,3,6,0.5,1.5,A B
10,1,3,6,0.5,1,A
9,3,3,6,0.5,1.35,BD F

$ more resultl/tid_pats.csv
tid,pid

T1,4

T2,1

T2,4

T2,7

T2,6

T2,5

T3,10

T3,6

T3,13

T3,7

T3,11

T3,8
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13

T3,3
T3,12
T3,1

02 000000000DODOO00ODboOoOn
gobooo30bo0ooooooooboono 3oooooooooog

$ mitemset.rb S=3 1=3 u=3 tid=tid item=item i=datl.csv O=result2
#MSG# lcm_20140215 FIf -1 3 -u 3 /tmp/__MTEMP_96148_70251320761080_0 3 /tmp/__MTEMP_96148_
70251320760380_0
trsact: /tmp/__MTEMP_96148_70251320761080_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 5 ,size 20
output to: /tmp/__MTEMP_96148_70251320760380_0
separated at O
iters=8

N OO OoON

trsact: /tmp/__MTEMP_96148_70251320761080_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 6 ,size 21
output to: /tmp/__MTEMP_96148_70251320760380_1
separated at O

iters=7

6

0

6

#MSG# output patterns to CSV file ...

#MSG# the number of patterns enumerated is 2
#MSG# output tid-pattermns ...




14 020 0000

#MSG# The final results are in the directory ‘result2’

#END# /usr/bin/mitemset.rb S=3 1=3 u=3 tid=tid item=item i=datl.csv O=result2
$ more result2/patterns.csv

pid,size,count,total,support,lift,pattern

0,3,3,6,0.5,1.35,B D F

1,3,3,6,0.5,1.8,A B D

03 0000000d

$ mitemset.rb S=3 type=C tid=tid item=item i=datl.csv O=result3
#MSG# lcm_20140215 CIf /tmp/__MTEMP_96231_70281540721720_0 3 /tmp/__MTEMP_96231_7028154072
1000_0
trsact: /tmp/__MTEMP_96231_70281540721720_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 5 ,size 20
output to: /tmp/__MTEMP_96231_70281540721000_0
separated at O
iters=8
8

N W N+~

trsact: /tmp/__MTEMP_96231_70281540721720_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 6 ,size 21

output to: /tmp/__MTEMP_96231_70281540721000_1

separated at O

iters=7

6

0

6

#MSG# output patterns to CSV file ...

#MSG# the number of patterns enumerated is 7

#MSG# output tid-patterms ...

#MSG# The final results are in the directory ‘result3’

#END# /usr/bin/mitemset.rb S=3 type=C tid=tid item=item i=datl.csv O=result3

$ more result3/patterns.csv
pid,size,count,total,support,lift,pattern

1,1,5,6,0.8333333333,1,D

6,0.6666666667,1.2,B D
6,0.6666666667,1,E
6,0.6666666667,1.2,D F
,6,0.5,0.9,D E
6,0.5,1.35,B D F
6,0.5,1.8,ABD

04 00000000

$ mitemset.rb S=3 type=M tid=tid item=item i=datl.csv O=result4
#MSG# lcm_20140215 MIf /tmp/__MTEMP_96314_70152347761620_0 3 /tmp/__MTEMP_96314_7015234776
0900_0
trsact: /tmp/__MTEMP_96314_70152347761620_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 5 ,size 20
output to: /tmp/__MTEMP_96314_70152347760900_0
separated at O
iters=8
3

N = OO

trsact: /tmp/__MTEMP_96314_70152347761620_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 6 ,size 21
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output to: /tmp/__MTEMP_96314_70152347760900_1
separated at O

iters=7

6

0

6

#MSG# output patterns to CSV file ...

#MSG# the number of patterns enumerated is 3
#MSG# output tid-patterms ...
#MSG# The final results are in the directory ‘result4’
#END# /usr/bin/mitemset.rb S=3 type=M tid=tid item=item i=datl.csv O=result4
$ more resultd/patterns.csv
pid,size,count,total,support,lift,pattern
0,2,3,6,0.5,0.9,D E

1,3,3,6,0.5,1.35,BD F
2,3,3,6,0.5,1.8,A BD

s dooodonoooogooog

$ more taxo.csv
item,taxonomy
AX

$ mitemset.rb S=4 tid=tid item=item i=datl.csv x=taxo.csv taxo=taxonomy O=resultb

#MSG# 1lcm_20140215 FIf /tmp/__MTEMP_96398_70213488525420_0 4 /tmp/__MTEMP_96398_7021348851

6480_0

trsact: /tmp/__MTEMP_96398_70213488525420_0 ,#transactions 6 ,#items 10 ,size 32 extracted
database: #transactions 6 ,#items 6 ,size 27
output to: /tmp/__MTEMP_96398_70213488516480_0

separated at O

iters=6

22

1

= 01O o,

trsact: /tmp/__MTEMP_96398_70213488525420_0 ,#transactions 6 ,#items 10 ,size 32 extracted
database: #transactions 6 ,#items 9 ,size 32
output to: /tmp/__MTEMP_96398_70213488516480_1
separated at O
iters=9
9
0
9
#MSG# output patterns to CSV file ...
#MSG# reducing redundant rules in terms of taxonomy ...
#MSG# the number of patterns enumerated is 11
#MSG# output tid-patterms ...
#MSG# The final results are in the directory ‘resultb’
#END# /usr/bin/mitemset.rb S=4 tid=tid item=item i=datl.csv x=taxo.csv taxo=taxonomy O=res
ultb
$ more resultb5/patterns.csv
pid,size,count,total,support,lift,pattern
1,1,6,6,1,1,Z
2,1,5,6,0.8333333333,1,D
19,2,4,6,0.6666666667,1.2
13,2,4,6,0.6666666667,1,B
14,1,4,6,0.6666666667,1,X

,D X
z




16 020 0000

6,1,4,6,0.6666666667,1,F
11,2,4,6,0.6666666667,1.2,B D
21,2,4,6,0.6666666667,1,X Z
4,1,4,6,0.6666666667,1,E
10,1,4,6,0.6666666667,1,B
7,2,4,6,0.6666666667,1.2,D F

06 00000000000 O00O0OOOCOOOO

$ more taxo.csv
item,taxonomy
AX

$ mitemset.rb S=4 tid=tid item=item i=datl.csv x=taxo.csv taxo=taxonomy -replaceTaxo O=resul
t6
#MSG# 1lcm_20140215 FIf /tmp/__MTEMP_96532_70167229154680_0 4 /tmp/__MTEMP_96532_7016722915
3720_0
trsact: /tmp/__MTEMP_96532_70167229154680_0 ,#transactions 6 ,#items 4 ,size 11 extracted
database: #transactions 6 ,#items 2 ,size 10
output to: /tmp/__MTEMP_96532_70167229153720_0
separated at O
iters=2
4
1
2
1
trsact: /tmp/__MTEMP_96532_70167229154680_0 ,#transactions 6 ,#items 4 ,size 11 extracted
database: #transactions 6 ,#items 3 ,size 11
output to: /tmp/__MTEMP_96532_70167229153720_1
separated at O
iters=3
3
0
3
#MSG# output patterns to CSV file ...
#MSG# the number of patterns enumerated is 3
#MSG# output tid-patterms ...
#MSG# The final results are in the directory ‘result6’
#END# /usr/bin/mitemset.rb S=4 tid=tid item=item i=datl.csv x=taxo.csv taxo=taxonomy -repl
aceTaxo O=result6
$ more result6/patterns.csv
pid,size,count,total,support,lift,pattern
1,1,6,6,1,1,Z
2,1,4,6,0.6666666667,1,X
3,2,4,6,0.6666666667,1,X Z

O 0000000000

$ more dat2.csv
tid,item,class
T1,C,clsl
T1,E,clsl
T2,D,clsl
T2,E,clsl
T2,F,clsl
T3,A,clsl
T3,B,clsl
T3,D,clsl
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17

T3,F,clsl

T4,B,clsl

T4,D,clsl

T4,F,clsl

T5,A,cls2

T5,B,cls2

T5,D,cls2

T5,E,cls2

T6,A,cls2

T6,B,cls2

T6,D,cls2

T6,E,cls2

T6,F,cls2

$ mitemset.rb S=2 tid=tid item=item class=class i=dat2.csv p=0.6 O=result7

#MSG# 1lcm_20140215 FIA -w /tmp/__MTEMP_96648_70348154647100_1 /tmp/__MTEMP_96648_703481546

47100_0 1073741817 /tmp/__MTEMP_96648_70348154644460_0

trsact: /tmp/__MTEMP_96648_70348154647100_0 ,#transactions 6 ,#items 6 ,size 21 extracted

database: #transactions 6 ,#items 4 ,size 17 ,weightfile /tmp/__MTEMP_96648_70348154647100
1

output to: /tmp/__MTEMP_96648_70348154644460_0

separated at O

iters=6

9
1
4
3
1

#MSG# output patterns to CSV file ...

#MSG# the number of contrast patterns on class ‘clsl’ enumerated is 8

#MSG# output tid-patterms ...

#MSG# 1lcm_20140215 FIA -w /tmp/__MTEMP_96648_70348154647100_2 /tmp/__MTEMP_96648_703481546

47100_0 2147483645 /tmp/__MTEMP_96648_70348154644460_2

trsact: /tmp/__MTEMP_96648_70348154647100_0 ,#transactions 6 ,#items 6 ,size 21 extracted
database: #transactions 6 ,#items 4 ,size 16 ,weightfile /tmp/__MTEMP_96648_70348154647100
2

output to: /tmp/__MTEMP_96648_70348154644460_2

separated at O

iters=14

11

0

=D o=

#MSG# output patterns to CSV file ...

#MSG# the number of contrast patterns on class ‘cls2’ enumerated is 11

#MSG# output tid-patterns ...

#MSG# the number of emerging patterns enumerated is 16

#MSG# The final results are in the directory ‘result7’

#END# /usr/bin/mitemset.rb S=2 tid=tid item=item class=class i=dat2.csv p=0.6 O=result7?
$ more result7/patterns.csv
class,pid,pattern,size,pos,neg,posTotal,negTotal,total,support,growthRate,postProb
cls2,18,B D E,3,2,0,2,4,6,1,inf,1

cls2,14,B E,2,2,0,2,4,6,1,inf,1

cls2,13,A E,2,2,0,2,4,6,1,inf,1

cls2,17,A D E,3,2,0,2,4,6,1,inf,1

cls2,15,A B E,3,2,0,2,4,6,1,inf,1

cls2,10,A B D E,4,2,0,2,4,6,1,inf,1
clst1,2,Db F,2,3,1,4,2,6,0.75,1.5,0.75
cls1,1,F,1,3,1,4,2,6,0.75,1.5,0.75

cls2,9,A B,2,2,1,2,4,6,1,4,0.6666666667
cls2,8,A,1,2,1,2,4,6,1,4,0.6666666667
cls1,6,BD F,3,2,1,4,2,6,0.5,1,0.6666666667

cls2,12,A B D,3,2,1,2,4,6,1,4,0.6666666667




18 020 0000

cls1,5,B F,2,2,1,4,2,6,0.5,1,0.6666666667
cls2,16,D E,2,2,1,2,4,6,1,4,0.6666666667
cls2,11,A D,2,2,1,2,4,6,1,4,0.6666666667
cls1,0,D,1,3,2,4,2,6,0.75,0.75,0.6

213 00 1. 00000 g=,p=,~uniform0000

ooooo ¢ ={e,e0,,6,} 000000000000 O00OOODOODOODOODOOODOODOODOODODOOD
ooobooooooooboooooooooo0oobboooooooooOooooDooooDObOOooDOoOoooooO
coooOooooooooobbo qgUooo0ooooooogn eg,e3,--+,c, 0 00O0O0O0O0OODOCOOOOOOO
ooobooooobboo0 c00obObo0o0ob e, 0b0000o0g

ooooo0o0ooooooooooo300o0o0o0o0oooooooo

1.000 (D0000DD0O000o0ooD)oo0Ooooo
2.0000000000 (D0COODDOUOOODODOUOOOOOO)
3. 0000000000 (DoDOoDUOooooDO)

1.000

00000 0000000000 0000 GR,(J)ODO (2) 0000000000 DOOOOODOODODOO
coooooooooooooobobooooooOooOoOoOooobooOoooOoOOoOboOoobooOoboooDoOo0yOoOOOO
ooobooOoooo0oobo0oooo0oobOybOO0O0ObOO0O0 ge=s0O00DOOODO

PI‘(I‘Ct)

GR(I) = Pr(llcy)

>y (2.1)

2. 0000

0000000000000 U00oooO0U0000oOoO0U0 IO00000000000D0ODOLOOUOUODOD0Od &
00000000000000000 (22)00000000000000 ¢, 00000 Pr(e)0000O0ODODOIDO
0000000o0o0oOd Pr(e/) 00000000000 O0OO0OOOO Pr(e,) 00000000 OOOODOODOO
gobgooboobooboboobooobbooboooboobbooboobo~bOODDbOoO0DbO0DbLOO
gboboooooooob~0000D00OD p=0ODODOODOD

Pr(I|c:) Pr(ct)

P = Br(Tie) Pr(eo) + Pr(T]eo) Pr(c)

>7 (2.2)

3.0000 (000000)

00000000000000000000000000000000000Pr(e;)=21,Pr(c,)=2-100 (2.2)
0000000 (23)0000000000000000000000000000000000000000000
000000 7, 000000000000000000000000007, 0000000 p=000000000
O-uwniform00000000000

B Pr(I|c;)
Predl) = 5ritiey + m— 1) Pr(lley) = ™ (2:3)

GR(I)O Pr(g|I)00OD
0 (21)00 (22)000GR(I)0 Pr(e]])00000 (24) 000000000000 0000000000
0000O00000O000O0O0O0 (2400007000000 y0000ODO0OOODOO
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Pr(c,)  Pr(e|I)

GR(I) = Pr(c:) 1 Pr(c:|T)

214 002 LCMOODOODDODOODOOOOOO

0000000000000000 D, D, 00000000000 |Dy|=W|D,|00000000000000
0000000 (00000000 /000)00000D, 0000000 GR,()00000000 Gaing(I) O
00000 (25),(26)00000000

sup(I, Dy)/|Dy| W sup(I, Dy)

GR(1) = sup(I,D,)/|D,o| " sup(I,D,)

(2.5)

Gain,(I) = wsup(I, D) — sup(I, D,) (2.6)

000 Osup(I, Dy),sup(I,D,) 00000 I0 D, D, 0000000000w0000000000000000
0000000000 J00000GR(/)000000000000000000~00000000000000
000000000Gein,(/)0000000000000000000 «0000000000000000000
00000000000000000000000000000000000000000000000000000
(2.7),(28)0000000

sup(I,D,) <

%sup(], Dy) (2.7)

Sup(Iv DO) < wsup(l7 Dt) -0 (28)

000ooooooooooo sup(l,D,)0y0OOO0OODODOODOOOO sup(l,D;)020000000000DOO
oobO210000000000000000000DOO00DOO0OO0DOOOOOOOD 2200000000000
coooooooocooon

sup(I, D,) < Ksup(I, Dy) sup(I, Do) < wsup(I,Dy) — o sup(I, D,) = qup(l, D,) — UE
v . -
S S 3
= \ % "
5 ) s
Sup(l1 Dt) SUp(I,Dt)
021 OO0OoooOoo 022 0000000000

023 0000000000

LcMOOOooOoOO00o0o000 w,e 00000000000 OOOO0OOOOOODOOODOOOOODOOOOOO
0000000000000 0O00Dsup(I,Dy) 00000000000 Osup(I,D,)000000000DO0ODODOO
coboooooboooooooooobooooOoOoOooOooboo0 o O0O0OO0O0O0OO0OOOODOO0OOO0OOO0OOO0OOOO
oobobooooobooooboooboooobooooooooon

o0o0U0ooO0o00ooO00ooO0o0U0oOoO0oOoUoOoOO0OLCMOOODOOODODOOODODOOODOODOOOO
cooboooobooooboooooooooooboo

0230002100 220000000000000000000000 ABCOOODOOODOOOOOODO
sup(I,Dy) > (000000 S=000000000OO0)000000 GFCBOOOOOOODOODOODOODOOD
OO0LCMUOOO0O0OO0O00O0O00D0DO0OD0ODADEBOOOUOODOOOODDODOOOOOD DEODe 0 wOODOODOOO
000000000 o00O0O0 ACOOO DEODOD GO 200000000 p000000O0O0O0OO (O (2.9)w



20 020 0000

0000000)000000000LCMOOOUOOOOUODOOOOUDADFGUOUOO AEGCOODOODOOODOO
oobobooooooooboocoobobooobooooooooon

o=pw- 7) (2.9)

00 wO0OO0OOO0O0D0O0OO0OO0DEODODOOOOODOOOOODOOOOOO AEGCOOOOO0O0O0O0O0OUOADGF
gobodoboboobdoobtboobiiwdbbboboobboobbooboOoO

w00 b oo OO b bbb oo oo
00000000 maxInt 0000 Owsup(I,Dy) <maxInt 00000000000000OO0OOSsup(I,Dy) O
|DP|DDDDDDDDDDDDWDD (2.10)0000000ODO0OLOOADFGLDOOOOOODOODOO

maxInt
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2.2 msequencerb DO O0DODOOOOOOO

godddddooooooooooooooboboboboboboooddddddooooooooooooboon
gooodobobooboobboooboboobooboboooboobDbooboobboboDboobboobobooboo
gooooooo (DDDDDDD)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
0000000000000 000000D00 LCMseq(LCM algorithm for enumerating all frequently appearing
sequences) 000000 BU00D0ODO0O0OODODOOODOODOOOOO

e gapU0 windowODOOOOO (0DO0)00000O0O0ODOODOO

e gapU0 windowODOOOODDO (000 )00D00000DO0OOOODOOOOO

e J00DDOODD (taxonomy) 00000 OOOOODO

e lJ00IDDUOULODUOUDODDOODUOULODUOUDOD (UOLUODUL)0DLDODDUODODDODOOS
ooooooooooobobooon

e JJ0DUODUDUOD (UDULODLUDUODDUOULO)ODUODODDUODO

021300000000000000000000tdO00OOCOOO0ODOO0OOO0OO0O0OOOOtimeOOn
itemO00000000000O0ODO0O0O0OO tem 0000000 0O0ODOO (ODODODOD temJOOODOODOODO
000000D0)00000tme00000000 tem 0000000000000 00O0OO-padding0000
0000000000000 00000 timed00000000 gap00 windowOOOOOOODOOO (DDO)OO
000 2130000000000000000O000O00DOO0DODO0ODO0ODOOO0O0OOODOOODDOODDO
02140000 2150000

0213 00000 0214 0O0OoO0OooOoo 0215 O0O00O0O00OOooo

tid time item ooooo o 1 2 3 4 5 6 7 8 9

T1 0 C Tl CBAC T1 C B A C

T1 2 B T2 DABC T2 D A B C

T1 3 A T3 CBDE T3 C B D E

T1 7 C T4 ACB T4 A C B

T2 2 D 5 BADDCC ™S B A D D C C
T6 ABDBC T6 A B D B C

000000000 200000000000000 (AC),(BC),(DBC)0D0 2000000 (01000)00
00000 (BC)OOtidO T1,T2,T5,T60000000000000T30T400000 BO COOOOOOOO
00000000000000000000000000

ocooooooo

0000000000000 0D (bOD0DO0O0ODL)0000D0000O00D00DO00DO0O0ODOOODOUODOO
0000000000 0000 3000000000000 (BD)OoOOOUDOO T3, T5,T60 300000000
000000000000 00000O00O0oD (bB)ODODOODOODO T2, 760 2000000000000000OO0
ooo0ooO0oooo0oo 30oo0obOo0ooooOoOooooOoOoDboOoOooOobOoOD 2160000

goboooobood
goobobobooooogoooboobobobooobooooooboobobobobobboooooobooDbo
goboooboooboobooobooboobooboooboobbooboobbobboobboobbooboo
ocoooooooOooOobOO0obOOoOooOooOOobDOoOoOoOooOoooOoOOobooOOoOoOoDOobDO sO0ObOObObOOobOO
0000000000000 00000UoUoODo0Oo0ddmitemset.,thO0 000000 10000000



22 020 0000

0216 02140000000000300000000000000000000000O000O00O0

oobooo O0O000 oOoooooooood

C 6 T1,T2,T3,T4,T5,T6
B 6 T1,T2,T3,T4,T5,T6
A 5 T1,T2,T4,T5,T6
AC 5 T1,T2,T4,T5,T6

B C 4 T1,T2,T5,T6

D 4 T2,T3,15,T6

AB 3 T2,T4,T6

BD 3 T3,15,T6

CB 3 T1,T3,T4

D C 3 T2,T5,T6

oooo
0000000000000 000000000000 mitemsetxybO0O0O0O00000O00OO

gapUoQd

cap0 0000000000 ODODOOOOD 2000000000000000D00DOO0DODOOODOOO (20
0000000000 -1)0000000000000000000 (ABC)ODODODODODOD(ADDDBDC)OOO
0000000000 20000 ABOOOOOOOOOO gap00 400BCOO gapO0O 20000gap000
obob0oooooob0oobobobo0ooooO0oooobD00bO0bUbOOoU0ObD gapbDODDoODOoOoobDODbDOO
ocooboOooOoOoooOooocOoooOdoodooooo0oOo0oOooOoooooOoOoDbOOooOoDoOoDoOoDoO
cap0 000 100000000000 O00DOOO00ODOOO0ODOO0O0ODODO0O0ODOOOgap0OOOOODO 2.17
oooo

window O 0 O

window 00 0000000000000 0OOD0ODOOO0OOLOOLDODOOOOOUOOOOD (DDODODO)OOOO
00000000 (ABC)DOO0DDOO(CADCBDC)D0DODOODODOOODOODOODOODD 200000
0000000 700000000000O0window O 60000windowOOOOOOOO0O0O0O0OO0OOOODOO
oo oooboobobobbbbbbobbobtbbddddDob b O
0000000000000 0o0ooooooooooogddwindowODOOOQOQOQOO 2170000

oooo

LCMseq DO ODOOOOOUOOO0OODOOOOUOOOD gapO00O00O windowOOOOOOOOOOOOODOOOOO
0000000000000 000000000oooOo (" 0000000000000)0000000000O0
0000000 00000 2150000000000000 2180000000000000000000000
0000000000000 0000000 gap0000 windowOODOOOOOOOOOODOODOOODOOOOO
oooboOoooo0ooboOoooooooooooobDoOoooDooo

ug
0000000000000 0000O00000000000000000000D0O0O00O0O (patterns.csv)d
000000000000 00D000000000D00D000000000000 (tid_pats.csvO0OO0O0OOOO

*1 DoooO00000000000”P0000000000000



2.2 msequencerb 000 0O0O00O0OONO

0217 DOOO0(ABC)UDDOO0ODOUOOOOD gap0O0 windowOOD 400000000 AAABCC
0000 40000000000000000000000000 gap00 windowDOOOODOOOOODOO
gap 00000 window OOOOO0OOO0OO0O0O0O0O0O00O0O000D000D000000O0OwindowOOO 300
00000000000 ABCOOOOUOOOOoOOoOoOoOO 200000000000000000O

ooooo A-BO gapO B-CO gapOd  window O
ADDDDBDCD 5 2 8
ABCD 1 1 3
CAACBACC 3 2 6
CACBBACBC 2 3 6
AABCC 2 1 4
AABCC 1 1 3
AABCC 2 2 5
AABCC 1 2 4

0218 0000000 gap0O000 windowODODOOOOOODOOOODOOOOODOOOOOOODOOOO
oo”Pooooon

goooo
Tt C!BA!l!IC
T2 DAI!BC

T3 CB!DI!!!IE
T4 A!l1ICI!!B
T5 BADD!!I!ICI!IC
T6e A!l!!BDB!C

O00000O0o0ooOOooOoooooogo ecsvooooooooon 21900 221 0000000000000

0 2.19 patterns.csv D00 00O0OpidO00OOOOOODOOOOO 0 2.20 tidpats.csv 000 0O Otid O
Jo000oO0ooo IDO0size 00000000 O0OOOOOOOO ooodo Iboodtid=0000000
000000000 Ocount D000 O0O0O0O0OO0ODOOOOOOOO goo0ooooooooooooon
00000 total 0O ODOOOO0OOOOOOsupport 0000000 dooboooooooooooooa
Count/totalDDDDDDDDDD pattern 00 O0O0OOOOOO0O Oooooooo Ibo pidOOOOO
goodooooooooboboooood ooao

pid pattern size count total support tid  pid

1 C 1 6 6 1 T1 0

4 B 1 6 6 1 T1 1

11 AC 2 5 6 0.8333333333 T1 10

10 A 1 5 6 0.8333333333 T1 2

16 D 1 4 6 0.6666666667 T2 0

7 BC 2 4 6 0.6666666667 T2 1

12 AB 2 3 6 0.5 T2 10

2 CB 2 3 6 0.5 T2 11

19 DC 2 3 6 0.5 T3 0

3 CcC 2 2 6 0.3333333333 T3 1

221 00O

msequence.rb i= [x=] [0=] [tid=] [item=] [class=] [taxo=] [s=|S=] [sx=[SX=] [1=] [u=]
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020 0000

0221 000D0OO0OOOO0OODOO patterns.csv0O00O00OclassO00000000000O0OOOOOOOOOOOO
000000000000 0pid,pattern,sizetotal 00 219 0000000pos 00 000000000000
000000000 0Oneg0 00000000000 00ODODOO0OO0OODODOOOposTotalnegTotal 00O
gobObooOOo0O00oooobbboo0o0o0UooobObbobooUOUswpport oo oooog
pos/posTotal 0 0 0 00 OO growthRate 0 O 0O 0O O Osupport/(neg/negTotal) 0000 O00DODOO0OODOO
00000 infO000000000000000000000000000000000000O0 postProbO 00O
0000000000000 00000000O00growthRate 000 0000000000000 ODOOOOO
0000000000000 0000 mitemset.,tb0000000000 10000000

class pid pattern size pos neg posTotal negTotal total support growthRate

postProb

clsl 1 BC 2 3 0 4 2 6 0.75 inf
cls2 9 BCD 3 2 0 2 4 6 1 inf
cls2 10 AD 2 2 0 2 4 6 1 inf
cls2 11 ACD 3 2 0 2 4 6 1 inf
cls2 8 BD 2 2 1 2 4 6 1 4
cls2 12 CD 2 2 1 2 4 6 1 4

1
1
1
1
0.6666666667
0.6666666667

top=
-padding

--help

[gap=] [win=] [p=] [g=] [top=] [-padding] [T=] [--help]

keyOUOOOOODOODOODOODODOOOOO
goooooooooboobon

goboobooboboobbooooboo

00000000000 :default=./take_#{0 000 }0

Joooodooo ipboodogood

0obo0oboo ipobogooboo

00000 (i=00000)000000 :default="time"O

000000 (e=sOD0O0OO0NODODOOODO
gddooooooobobobobbboboboboooa
doooooooooog -x=0

oo0oO0ooo0 (oO)ooooo:s=, s=0

oooooo (@moH)gooog :s=, S=0

oooooo (@mo)gooooooo

oooooo (@mo)ygoooooo

gobooboobobooboobooo
odo0boobooobooobooooo

00o00ooooooodno (oooooo)ooooogd:o00000 ,default:00
0000oo0o0oooo0 (o000 0oo)H)obooOo:o00000 ,default:00
Jo0ooooooooobobobobbbbO :default=0.50
goboobooboboobobooooboo
ddddodoooooboobbibibd :default: 00000
gobooboobboobooobooboobbuoobboobobooboo
gap=0 win=0 OO OOODOOO

Jooooooooooooooo

goboooo



2.2 msequencerb 000 0O0O00O0OONO 25

222 000

01000
2000000000000 O00DOO00D0DO0O0DOO00ODODOO0O0ODO0O0ODODOO0ODODODOODOO0ODODOO0ODOOd
goood

$ more datl.csv
tid,time,item

T1,0,C
T1,2,B
T1,3,A
T1,7,C
T2,2,D
T2,3,A
T2,5,B
T2,6,C
T3,1,C
T3,2,B
T3,4,D
T3,8,E
T4,2,A
T4,5,C
T4,6,B
T5,0,B
T5,1,A
T5,2,D
T5,3,D
T5,7,C
T5,9,C
T6,0,A
T6,5,B
T6,6,D
T6,8,B
T6,9,C

$ msequence.rb O=resultl i=datl.csv S=2
#MSG# lcm_seq_20140215 CIf /tmp/__MTEMP_96779_70117174398360_0 2 /tmp/__MTEMP_96779_701171
74386400_0
trsact: /tmp/__MTEMP_96779_70117174398360_0 ,#transactions 6 ,#items 5 ,size 26 extracted
database: #transactions 6 ,#items 4 ,size 25
output to: /tmp/__MTEMP_96779_70117174386400_0
iters=20
20
1
4
10
5
#MSG# output tid-patterms ...
#MSG# the number of contrast patterns enumerated is 19
#MSG# The final results are in the directory f‘resultl’
#END# /usr/bin/msequence.rb O=resultl i=datl.csv S=2
$ more resultl/patterns.csv
pid,pattern,size,count,total,support
1,C,1,6,6,1
4,B,1,6,6,1
11,A C,2,5,6,0.8333333333
10,A,1,5,6,0.8333333333
16,D,1,4,6,0.6666666667
7,BC,2,4,6,0.6666666667
12,A B,2,3,6,0.5
8,8 D,2,3,6,0.5
2,C B,2,3,6,0.5
19,D C,2,3,6,0.5




26 020 0000

3,C C,2,2,6,0.3333333333
18,0 B C,3,2,6,0.3333333333
13,A B C,3,2,6,0.3333333333
14,A D,2,2,6,0.3333333333
15,A D C,3,2,6,0.3333333333
9,BDC,3,2,6,0.3333333333
17,D B,2,2,6,0.3333333333
6,B AC,3,2,6,0.3333333333
5,B A,2,2,6,0.3333333333

>

0200000000
000003000000 20000000DOoOU0OoOoOg

$ msequence.rb O=result2 i=datl.csv S=3 1=2 u=2
#MSG# lcm_seq_20140215 CIf -1 2 -u 2 /tmp/__MTEMP_96838_70227485417240_0 3 /tmp/__MTEMP_96
838_70227485416360_0
trsact: /tmp/__MTEMP_06838_70227485417240_0 ,#transactions 6 ,#items 5 ,size 26 extracted
database: #transactions 6 ,#items 4 ,size 25
output to: /tmp/__MTEMP_96838_70227485416360_0
iters=11
6
0
0
6
#MSG# output tid-patterms ...
#MSG# the number of contrast patterns enumerated is 6
#MSG# The final results are in the directory ‘result2’
#END# /usr/bin/msequence.rb O=result2 i=datl.csv S=3 1=2 u=2
$ more result2/patterns.csv
pid,pattern,size,count,total,support
3,A C,2,5,6,0.8333333333
6666666667

1,B C,2,4,6,0.
0,C B,2,3,6,0.
2,8 D,2,3,6,0.
4,A B,2,3,6,0.
5,D C,2,3,6,0.

$ more result2/tid_pats.csv
tid,pid

T1,0

T1,1

T1,3

T2,1

T2,3

B

W

[

oo o Db D W W

-

-

LR
(0] o NN
AP WONEFE, OOWNEFEPRPRWONOO

(o) e NN

-
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0 3:gap00 window OO O OQOQO
000002000000 20000000000000gap00 20window 0O0OO0 400000000000

$ msequence.rb O=result3 i=datl.csv S=2 1=2 gap=2 win=4
#MSG# lcm_seq_20140215 CIf -1 2 -g 2 -G 4 /tmp/__MTEMP_96898_70310565879140_0 2 /tmp/__MTE
MP_96898_70310565878100_0
trsact: /tmp/__MTEMP_96898_70310565879140_0 ,#transactions 6 ,#items 5 ,size 26 extracted
database: #transactions 6 ,#items 5 ,size 26
output to: /tmp/__MTEMP_96898_70310565878100_0
iters=15
10
0
0
9
1
#MSG# output tid-patterns ...
#MSG# the number of contrast patterns enumerated is 10
#MSG# The final results are in the directory ‘result3’
#END# /usr/bin/msequence.rb O=result3 i=datl.csv S=2 1=2 gap=2 win=4
$ more result3/patterns.csv
pid,pattern,size,count,total,support
o,C B,2,3,6,0.5

2,8 C,2,3,6,0.5

3,8 D,2,3,6,0.5

4,A C,2,3,6,0.5

5,A B,2,3,6,0.5

1,B A,2,2,6,0.3333333333
6,A D,2,2,6,0.3333333333
7,b B,2,2,6,0.3333333333
8,D B C,3,2,6,0.3333333333
9,b C,2,2,6,0.3333333333

14L&y Uy

O 4: paddingOD OO OOOOODOO
030000000-padding 0000000000000 0O00 gap00 windowOOOOOOOOOOOOOO
oooooo

$ msequence.rb O=result4 i=datl.csv S=2 1=2 gap=2 win=4 -padding
#MSG# lcm_seq_zero_20140215 CIf -1 2 -g 2 -G 4 /tmp/__MTEMP_96957_70107510988120_0 2 /tmp/
__MTEMP_96957_70107510987120_0
trsact: /tmp/__MTEMP_96957_70107510988120_0 ,#transactions 6 ,#items 6 ,size 46 extracted
database: #transactions 6 ,#items 6 ,size 46
output to: /tmp/__MTEMP_96957_70107510987120_0
iters=33
4
0
0
4
#MSG# output tid-patterms ...
#MSG# the number of contrast patterns enumerated is 4
#MSG# The final results are in the directory ‘result4’
#END# /usr/bin/msequence.rb O=result4 i=datl.csv S=2 1=2 gap=2 win=4 -padding
$ more resultd/patterns.csv
pid,pattern, size count,total,support
B,2,3,6,
D,2,3,6,
A,2,2,6
c,2,2,6

» VYo

OOOO

5
.3333333333
.3333333333

14V
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Obs 000oboboboon
0l000000o0ooooo0oboboboooooooooooOooboo

$ more dat2.csv
tid,time,item,class
T1,0,C,clsl
T1,2,B,clsl
T1,3,A,clsl
T1,7,C,clsl
T2,2,D,clsl
T2,3,A,clsl
T2,5,B,clsl
T2,6,C,clsl
T3,1,C,clsl

T6,9,C,cls2
$ msequence.rb O=resultb i=dat2.csv S=2 class=class -padding
#MSG# lcm_seq_zero_20140215 CIA -w /tmp/__MTEMP_97018_70131049887220_1 /tmp/__MTEMP_97018_
70131049887220_0 1073741815 /tmp/__MTEMP_97018_70131049885920_0
trsact: /tmp/__MTEMP_97018_70131049887220_0 ,#transactions 6 ,#items 6 ,size 46 extracted
database: #transactions 6 ,#items 5 ,size 45 ,weightfile /tmp/__MTEMP_97018_70131049887220
1
output to: /tmp/__MTEMP_97018_70131049885920_0
iters=33
9
1
4
4
#MSG# output patterns to CSV file ...
#MSG# the number of contrast patterns on class ‘clsl’ enumerated is 8
#MSG# output tid-patterms ...
#MSG# lcm_seq_zero_20140215 CIA -w /tmp/__MTEMP_97018_70131049887220_2 /tmp/__MTEMP_97018_
70131049887220_0 2147483645 /tmp/__MTEMP_97018_70131049885920_2
trsact: /tmp/__MTEMP_97018_70131049887220_0 ,#transactions 6 ,#items 6 ,size 46 extracted
database: #transactions 6 ,#items 5 ,size 45 ,weightfile /tmp/__MTEMP_97018_70131049887220
2
output to: /tmp/__MTEMP_97018_70131049885920_2
iters=36

N WO owm

#MSG# output patterns to CSV file ...

#MSG# the number of contrast patterns on class ‘cls2’ enumerated is 5
#MSG# output tid-patterms ...

#MSG# the number of emerging sequence patterns enumerated is 13

#MSG# The final results are in the directory ‘resultb’
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#END# /usr/bin/msequence.rb O=resultb i=dat2.csv S=2 class=class -padding

$ more result5/patterns.csv
class,pid,pattern,size,pos,neg,posTotal,negTotal,total,support,growthRate,postProb
clst,1,B C,2,3,0,4,2,6,0.75,inf,1

cls2,10,A D,2,2,0,2,4,6,1,inf,1

cls2,9,B C D,3,2,0,2,4,6,1,inf,1

cls2,11,A C D,3,2,0,2,4,6,1,inf,1

cls1,0,C,1,4,2,4,2,6,1,1,0.6666666667
cls1,2,B,1,4,2,4,2,6,1,1,0.6666666667
cls1,6,A B,2,2,1,4,2,6,0.5,1,0.6666666667
cls2,8,B D,2,2,1,2,4,6,1,4,0.6666666667
cls2,12,C D,2,2,1,2,4,6,1,4,0.6666666667
cls1,5,A C,2,3,2,4,2,6,0.75,0.75,0.6
cls1,4,A,1,3,2,4,2,6,0.75,0.75,0.6
cls1,7,D0,1,2,2,4,2,6,0.5,0.5,0.5

cls1,3,B C,2,2,2,4,2,6,0.5,0.5,0.5
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2.3 mpolishing.rb OO0 OO0ODO0O

goboooooogooobooooboooooboOoooboooooooooooobOoOoooboboooboOoOoooooo
cooooooooooooooOoOoOoOOObooooooooOooOooOooOOO0O0 2400 2500000000000000
oooboooooooobooooooooobo0oooboboooooooooOoboooobOoooobObOooDboOoOoooooo
0000000000000 0O0000D00 (000000000000 0DO0O00O0ODO0O0OD)000O0O0OOO

024 0O0D0OO0OO0OO 025 O0O0O0OO0OO0OO

0000000000 Algorithm 10000000000000O00O0DOO00O0O00OOO0OUOOOOOOOUDOO
0000000000000 0000000DDO0O00000000DDO0O0DO00O0OD0OO 2000000 DOOO
0000000000000 0O000O00O000O0O00D0 (D0O)0D0OD0ODU0ODO0ODOLOO0DDOODODODOOOO
ooboboooooboooobooooooooooboooboOoooboooooon

Algorithm 1 00000000000

1: function POLISHING(G = (V, E), o)

2 V.0Oooo,EFE:000,:000000

3 E =¢; V' =¢ >0000000000000000
4 for all w € V do

5: for all v € V do ># 00000 w,v0000000
6

7

8

9

ifsim(u,v)Zathen >O0000wv0000000O0OO0O0DODODDO0O0O0O0O0O0ODODDODODODOO0OOO
E' = E"U (u,v)
Vi=V'Uu
: V=V Uv
10: end if
11: end for
12: end for
13: return(V', E')
14: end function

gooooooooooooooooooooooboooooooooboooobooobooboooobooDboOooDooDOo
cooboooooboooooboooOooooOoooOoboOoOobOOoOoOoOoOoOoOoOoObOcO0ObOOOObOOOOoOoObCOoOon

002000000000 (Algorithm 10 6 00:sim(u,v)) 0000000000000 O00OOOOOOOOOO
coooooooooOoooooooooootwwwOOoooOOOOD 260000000000DOCO0O0OOOOO
ooowbOvOOOOCOOOOOOOOOOOOOOOOOOCOSOOO0DOO0O0O0O0O0O0 340 200000000
oooooooooooboooboooooooooooon

goooooooo220000000006000000000000000000000000000O0O0O0AO0
sim=000000000000000000O0th=000000000000DO0DO0O0O0OOOO
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ORORONOJO),
O

026 00w,o00000

0222 000G=(V,E)UODOOUOOw,vO0DODOOOOD

# 000 goo sim=000000 oad
[N (u)NN (v)|

1 recemblance W R 0.00 1.0

2 mormalized PMI  log praarss /(— log P(u, v)) P -1.00 1.0
_ [VIIN(w)NN(v)] N(u)NN(v)]
= Rt/ (= log Fp )

3 intersection [N (u) NN (v)] T 00

4  cosine _IN@ANQ@)| C 0.001.0
\/‘]IV(?)‘) |1\(7(1)1)|

N(u)NN
5  max-confidence HW S 0.00 1.0
. w)N v
6 min-confidence T (NGOLIN (o] S 0.001.0

N(w) OO0 w0000000000000P(v) 000 w0000000000000P(u)=N(w)/[V[OODOD

231 O

o0o0o0oooO0o00ooo0ooooO00oooob 22300000000000000000000ODOOO CSVO
ooobooooooooboooooooooo0oobboooooooooOooooDooooDObOOooDOoOoooooO
000 (D0O0000)0000O000O000OL0O0OD0ODO0OO0ODO0OO0OD 22300000000000O000O0O 2.7

goboobbooboobobooobooboooboobboob

0223 00000 (0O0O0)

nodel node2

a b
a ¢
a e
b ¢
b e
b g
¢ d

g

e
e f

OO000O00OO0OOoOoOooOoOoOD mmtersection00000OCOCO 200000000000000000D000D0O0O0
00000 (00D00000D0)020000000000000000000000O0O0DOOODOOODO 28000
270000 @, b000000000000O0O0O00O0DOODOO0O0OO0OOO0 e,cO00D00OO0O0O0DOOOOOOOO
000000 «,b0000000000000 e,9(029) 000000000 0000000000000000
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e

028 00 e000 029 00 e00D0
027 022300000000 4000 ¢000

oo

cooooooo

02100000 b0000000000000000000 2000000000000 @,b000000C0O
oobooooboooboooooooooooooooooooboooboboobOoO 2110000000 O000D0DbOO
0000000000000 00000000000000000000000000 e, b000000000D0OO
0000000 ¢, 00O0O0O0e,b0000000000000D00O00O0O0DO0D0O0ODO0O0O0O0O0O0O0O0ODO 200
ooooooooooooao

0210 O0«OO0O0ObOOO 0211 OoOoOOOOOQOOOO 0212 000O0O0O00OOOOGO

gobooooooobooboooboobooooooooooooobooooooooboboobOonoDOo 21300
ocobooooOOooo0oOoboOoooOooooooOoooOobD 21000000000 DOOO0OOOOOOODOODDbDO
000000000000 0000000O00000O00D00030000000000O0O0O0O0OD (OO)oo 2.14
o0 2l6000000000000DOO0O0DOO0O0OOOOOODOOODOOODDOOODOOODOOODOOOO
60000 a,b,c,dye,g000000000000O0O00OO0O0DOOOO0ODOOOO fOeOOOODODOOOOOOOO
O000OO0e, fO0O00D0OOOO0OOO0OOOOO0ODOOO0O0ODOOODOOOOOOOOOODOOOODOOODOO
cooboocooooooooon

(e} (d)
0213 DODOOOOL 0 o
0ooooo : 0915 oooooo 1o 0216 00000030
0ooooo J0ooo

ooooo

goobobobooobobdooooobobooobobobu0oDobobUoDoobobooobOoo
0000000000000 U0U0ooo0ooo0ooo0o00U000D0oo0oooOOoD0DU0OoDoDOooOoOOoOOUOOo
gooobbgooboobooooobob bbb oo oo o
resemblance 00 0000000000000 000O0ODO0OOOCOOOO0O0OO0OO resenmblance00000O00
OO0 o04,05000000000000000000O0 2.1721800000000000000O0 2190000000



2.3 mpolishingtb 00000000

33

O normalized PMIOOOOODO 02000000000

0 2.17 recemblance=0.4 0O O
oooooo

0 2.18 recemblance=0.5 0O O
ooooono

7

g ~
\
f '
i '
J
M

e

0 2.19 normalized PIM=0.2 O
OOoOooooo

000000000000 0O0D00000 22400000000000000000000000 (Leg=00O0OO

00o000)o

0224 DO00O00O0ODODOOOO

key oo

iter gooooooooooo
time oooo

nSize0 goddddooooooood
eSize0 0000000 OOOOOO
dens0 gooooooooo
nSize# #U0O0O0OOODOOOOOOO
eSize# #0000000000O00
dens# #0000000000000

gobooobooboboobooboo

e JOID0UIDUODODLDODLODLOOODODODODLO
e 60000O0OOODOOOOOOOOOODODODOODODODODDODODOODOOOO
e J000000DDOOODDDOODODODODDUODD (DODODODDDOOOOD)D
e JI0DOOOOOOOOOOOOODOOOOOOOOOOOODO

e J00DOUOODOOODODODOUODOOODOOODOOODOOOO

232 0O

mpolishing.rb ei= ef= [ni=] [nf=] eo= [no=] [sim=R|P|C|s|SIT] th= [sup=] [-indirect] [iter=] [log=] [T=]

gobgoooo

ei=
ef=
ni=
nf=
eo=
no=

sim=

: 00o00oooo
: 000000 20000000 (D000 "nodel,node2")
: 0o0o00ooooog

: 000000000000 (0000 "node")

: J0oooooooooocooon

: gooooooooooboooooao

: 00 a,p00000000O0COO0DOCOO A,BOOOOOODO a,pO000000000O00O00O0O0OCO

goboRrROOOOOOO

i:

inclusion

[



34 020 0000

: both-inclusion
|An Bl/max(|Al,|BI)
|An Bl/min(|Al,|BI)

0 H

s
T (intersection): find pairs having common [threshld] items
R (resemblance): find pairs s.t. |A\capB|/|A\cupB| >= [threshld]
P (PMI): find pairs s.t. log (|A\capBl*|all| / (|Al*|B|)) >= [threshld]
C (cosine distance): find pairs s.t. inner product of their normalized vectors >= [threshld]
th= : sim=0 0000000000000 0000O00O000O0DO0O0ObObODbOoO
sup= ¢ 0000000O000IAn Bl>=sup0000000000000 sup=00
-indirect: DUOUO0OOO0OOO0OOOODODOOODOOODODOODLDOODOOO
U00O00OA=A-b, B=B-a DOOOOOOOOOODO

iter= : 0000000000000 (DOOOO=30)

log= : 000000000000 000D0 key-valueDOQO CSVOOODOOOOOO
0= :gbooooboobobooboobbooboon

oood

T= : 000000000 (default:/tmp)
—-help : 000000

233 OO0

01000
0000 resemblance(sim=R) 00 0th=0400000000000000000O011ogl.csvO0DOOOODODOO
0400000000000000 (iter,4) 0000000 217000000000

$ more datl.csv
nodel,node?2
a,b

[e]

® A0 0T O PP
H O©O0M® QM@ O O 0

$ mpolishing.rb ei=datl.csv ef=nodel,node2 sim=R th=0.4 eo=resultl.csv log=logl.csv

#MSG# converting graph files into a pair of numbered nodes ...

input-file /tmp/__MTEMP_95376_70244664277340_3, output-file /tmp/__MTEMP_95376_70244664277
340_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95376_70244664277340_3

file read end: /tmp/__MTEMP_95376_70244664277340_3

iterative scan: #nodes=7, #edges = 20

forwardstar graph: /tmp/__MTEMP_95376_70244664277340_3 ,#nodes 7(7,7) ,#edges 20

#MSG# polishing iteration #0 (tra size=61

sspc_20140215 R -1 O /tmp/__MTEMP_95376_70244664277340_4 0.4 /tmp/__MTEMP_95376_7024466427
7340_3

trsact: /tmp/__MTEMP_95376_70244664277340_4 ,#transactions 7 ,#items 7 ,size 27 extracted
database: #transactions 7 ,#items 7 ,size 27

output to: /tmp/__MTEMP_95376_70244664277340_3

separated at O

11 pairs are found

0,1,2,4, :1.000000 (0)
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0,1,2,4,6, :1.000000 (0)
0,1,2,3,6, :1.000000 (0)
2,3,4, :1.000000 (0)
0,1,3,4,5, :1.000000 (0)
4,5, :1.000000 (0)
1,2,6, :1.000000 (0)
come

input-file /tmp/__MTEMP_95376_70244664277340_3, output-file /tmp/__MTEMP_95376_70244664277
340_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95376_70244664277340_3

file read end: /tmp/__MTEMP_95376_70244664277340_3

iterative scan: #nodes=7, #edges = 22

forwardstar graph: /tmp/__MTEMP_95376_70244664277340_3 ,#nodes 7(7,7) ,#edges 22

#MSG# polishing iteration #1 (tra size=65

sspc_20140215 R -1 O /tmp/__MTEMP_95376_70244664277340_4 0.4 /tmp/__MTEMP_95376_7024466427
7340_3
trsact: /tmp/__MTEMP_95376_70244664277340_4 ,#transactions 7 ,#items 7 ,size 29 extracted
database: #transactions 7 ,#items 7 ,size 29

output to: /tmp/__MTEMP_95376_70244664277340_3

separated at O

11 pairs are found
4,6, :1.000000 (0)
6, :1.000000 (0O)
,6, :1.000000 (0)
000000 (0)

5, :1.000000 (0)

000000 (0)
, :1.000000 (0O)

come

input-file /tmp/__MTEMP_95376_70244664277340_3, output-file /tmp/__MTEMP_95376_70244664277
340_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95376_70244664277340_3

file read end: /tmp/__MTEMP_95376_70244664277340_3

iterative scan: #nodes=6, #edges = 22

forwardstar graph: /tmp/__MTEMP_95376_70244664277340_3 ,#nodes 7(7,7) ,#edges 22

#MSG# polishing iteration #2 (tra size=63

sspc_20140215 R -1 O /tmp/__MTEMP_95376_70244664277340_4 0.4 /tmp/__MTEMP_95376_7024466427
7340_3
trsact: /tmp/__MTEMP_95376_70244664277340_4 ,#transactions 7 ,#items 7 ,size 28 extracted
database: #transactions 7 ,#items 7 ,size 28

output to: /tmp/__MTEMP_95376_70244664277340_3

separated at O

10 pairs are found

0,1,2,4,6, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)
:1.000000 (0)
0,1,2,4,5,6, :1.000000 (0)
4,5, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)

come
input-file /tmp/__MTEMP_95376_70244664277340_3, output-file /tmp/__MTEMP_95376_70244664277
340_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95376_70244664277340_3

file read end: /tmp/__MTEMP_95376_70244664277340_3

iterative scan: #nodes=5, #edges = 20

forwardstar graph: /tmp/__MTEMP_95376_70244664277340_3 ,#nodes 7(7,7) ,#edges 20

#MSG# polishing iteration #3 (tra size=57

sspc_20140215 R -1 O /tmp/__MTEMP_95376_70244664277340_4 0.4 /tmp/__MTEMP_95376_7024466427
7340_3

trsact: /tmp/__MTEMP_95376_70244664277340_4 ,#transactions 7 ,#items 7 ,size 25 extracted




36 020 0000

database: #transactions 7 ,#items 7 ,size 25
output to: /tmp/__MTEMP_95376_70244664277340_3
separated at O

10 pairs are found

0,1,2,4,6, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)

:1.000000 (0)
0,1,2,4,6, :1.000000 (0)

:1.000000 (0)
0,1,2,4,6, :1.000000 (0)
come

input-file /tmp/__MTEMP_95376_70244664277340_3, output-file /tmp/__MTEMP_95376_70244664277
340_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95376_70244664277340_3

file read end: /tmp/__MTEMP_95376_70244664277340_3

iterative scan: #nodes=5, #edges = 20

forwardstar graph: /tmp/__MTEMP_95376_70244664277340_3 ,#nodes 7(7,7) ,#edges 20

#MSG# converting the numbered nodes into original name ...

#END# /usr/bin/mpolishing.rb ei=datl.csv ef=nodel,node2 sim=R th=0.4 eo=resultl.csv log=lo
gl.csv

$ more resultl.csv

nodel,node?2

a,b

)
o

® 00T O WP
(A 0a ®0Q ® O 0 @

$ more logl.csv
key,value
ei=,datl.csv
ef=,"nodel,node2"
sim=,R

th=,0.4
eo=,resultl.csv
log=,logl.csv
-indirect,false
iter,4
time,0.1502
nSize0,7

eSize0,10
dens0,0.4761904762
nSizel,7

eSizel,11
dens1,0.5238095238
nSize2,6

eSize2,11
dens2,0.7333333333
nSize3,5

eSize3,10

dens3,1

nSize4,5

eSize4,10

dens4,1
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02 PMDOOOOO

0000 normalized PMI(sim=P) 0 0 0th=0.2000000000000000000000000 219000

oooood

$ mpolishing.rb ei=datl.csv ef=nodel,node2 sim=P th=0.2 eo=result2.csv
#MSG# converting graph files into a pair of numbered nodes ...
input-file /tmp/__MTEMP_95435_70301715200880_3, output-file /tmp/__MTEMP_95435_70301715200
880_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95435_70301715200880_3
file read end: /tmp/__MTEMP_95435_70301715200880_3
iterative scan: #nodes=7, #edges = 20
forwardstar graph: /tmp/__MTEMP_95435_70301715200880_3 ,#nodes 7(7,7) ,#edges 20
#MSG# polishing iteration #0 (tra size=61
sspc_20140215 P -1 O /tmp/__MTEMP_95435_70301715200880_4 0.2 /tmp/__MTEMP_95435_7030171520
0880_3
trsact: /tmp/__MTEMP_95435_70301715200880_4 ,#transactions 7 ,#items 7 ,size 27 extracted
database: #transactions 7 ,#items 7 ,size 27
output to: /tmp/__MTEMP_95435_70301715200880_3
separated at O
5 pairs are found
0,1,2,4, :1.000000 (0)

0,1,2,4,6, :1.000000 (0)
0,1,2,3,6, :1.000000 (0)
2,3,4, :1.000000 (0)
0,1,3,4,5, :1.000000 (0)
4,5, :1.000000 (0)
1,2,6, :1.000000 (0)
come

input-file /tmp/__MTEMP_95435_70301715200880_3, output-file /tmp/__MTEMP_95435_70301715200
880_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95435_70301715200880_3
file read end: /tmp/__MTEMP_95435_70301715200880_3
iterative scan: #nodes=6, #edges = 10
forwardstar graph: /tmp/__MTEMP_95435_70301715200880_3 ,#nodes 7(7,7) ,#edges 10
#MSG# polishing iteration #1 (tra size=39
sspc_20140215 P -1 O /tmp/__MTEMP_95435_70301715200880_4 0.2 /tmp/__MTEMP_95435_7030171520
0880_3
trsact: /tmp/__MTEMP_95435_70301715200880_4 ,#transactions 7 ,#items 7 ,size 16 extracted
database: #transactions 7 ,#items 7 ,size 16
output to: /tmp/__MTEMP_95435_70301715200880_3
separated at O
5 pairs are found
0,1, :1.000000 (0)
0,1,2,6, :1.000000 (0)
1,2,6, :1.000000 (0)
:1.000000 (0)
4,5, :1.000000 (0)
4,5, :1.000000 (0)
1,2,6, :1.000000 (0)
come
input-file /tmp/__MTEMP_95435_70301715200880_3, output-file /tmp/__MTEMP_95435_70301715200
880_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95435_70301715200880_3
file read end: /tmp/__MTEMP_95435_70301715200880_3
iterative scan: #nodes=6, #edges = 10
forwardstar graph: /tmp/__MTEMP_95435_70301715200880_3 ,#nodes 7(7,7) ,#edges 10
#MSG# converting the numbered nodes into original name ...
#END# /usr/bin/mpolishing.rb ei=datl.csv ef=nodel,node2 sim=P th=0.2 eo=result2.csv
$ more result2.csv
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nodel,node2

a,b

,C

'8

g
f

>

®© 0O T O

O 3: intersectiond 10000
0000000000000 00D0 intersection(sim=T) 0002000 (th=2)000000000000000
00000000000 1000 (ter=1)D000000 215000000000

$ mpolishing.rb ei=datl.csv ef=nodel,node2 sim=T th=2 iter=1 eo=result3.csv
#MSG# converting graph files into a pair of numbered nodes ...
input-file /tmp/__MTEMP_95485_70155283659220_3, output-file /tmp/__MTEMP_95485_70155283659
220_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95485_70155283659220_3
file read end: /tmp/__MTEMP_95485_70155283659220_3
iterative scan: #nodes=7, #edges = 20
forwardstar graph: /tmp/__MTEMP_95485_70155283659220_3 ,#nodes 7(7,7) ,#edges 20
#MSG# polishing iteration #0 (tra size=61
sspc_20140215 T -1 O /tmp/__MTEMP_95485_70155283659220_4 2.0 /tmp/__MTEMP_95485_7015528365
9220_3
trsact: /tmp/__MTEMP_95485_70155283659220_4 ,#transactions 7 ,#items 7 ,size 27 extracted
database: #transactions 7 ,#items 7 ,size 27
output to: /tmp/__MTEMP_95485_70155283659220_3
separated at O
14 pairs are found

0,1,2,4, :1.000000 (0)
0,1,2,4,6, :1.000000 (0)
0,1,2,3,6, :1.000000 (0)
2,3,4, :1.000000 (0)
0,1,3,4,5, :1.000000 (0)
4,5, :1.000000 (0)
1,2,6, :1.000000 (0)

come

input-file /tmp/__MTEMP_95485_70155283659220_3, output-file /tmp/__MTEMP_95485_70155283659
220_4

degree threshold:

first & second scan end: /tmp/__MTEMP_95485_70155283659220_3

file read end: /tmp/__MTEMP_95485_70155283659220_3

iterative scan: #nodes=7, #edges = 28

forwardstar graph: /tmp/__MTEMP_95485_70155283659220_3 ,#nodes 7(7,7) ,#edges 28

#MSG# converting the numbered nodes into original name ...

#END# /usr/bin/mpolishing.rb ei=datl.csv ef=nodel,node2 sim=T th=2 iter=1 eo=result3.csv
$ more result3.csv

nodel,node2

a,b

® A0 00T o TOTP PP
Hh ®O0mR O Q0B ® Q& 00M@ 0 Q&0
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04 00000DODODOOO
-indirect 00000000000 0OOOOO0OOOOOOOOOODOODOOOODOOO 2140000000000
oboboooooboobooboboboooooooooboo

$ mpolishing.rb ei=datl.csv ef=nodel,node2 sim=T th=2 eo=result4.csv -indirect
#MSG# converting graph files into a pair of numbered nodes ...
input-file /tmp/__MTEMP_95528_70362712963820_3, output-file /tmp/__MTEMP_95528_70362712963
820_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95528_70362712963820_3
file read end: /tmp/__MTEMP_95528_70362712963820_3
iterative scan: #nodes=7, #edges = 20
forwardstar graph: /tmp/__MTEMP_95528_70362712963820_3 ,#nodes 7(7,7) ,#edges 20
#MSG# polishing iteration #0 (tra size=47
sspc_20140215 T -1 O /tmp/__MTEMP_95528_70362712963820_4 2.0 /tmp/__MTEMP_95528_7036271296
3820_3
trsact: /tmp/__MTEMP_95528_70362712963820_4 ,#transactions 7 ,#items 7 ,size 20 extracted
database: #transactions 7 ,#items 7 ,size 20
output to: /tmp/__MTEMP_95528_70362712963820_3
separated at O
6 pairs are found
1,2,4, :1.000000 (0)
0,2,4,6, :1.000000 (0)
0,1,3,6, :1.000000 (0)
2,4, :1.000000 (0)
0,1,3,5, :1.000000 (0)
4, :1.000000 (0)
1,2, :1.000000 (0)
come
input-file /tmp/__MTEMP_95528_70362712963820_3, output-file /tmp/__MTEMP_95528_70362712963
820_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95528_70362712963820_3
file read end: /tmp/__MTEMP_95528_70362712963820_3
iterative scan: #nodes=6, #edges = 12
forwardstar graph: /tmp/__MTEMP_95528_70362712963820_3 ,#nodes 7(7,7) ,#edges 12
#MSG# polishing iteration #1 (tra size=31
sspc_20140215 T -1 O /tmp/__MTEMP_95528_70362712963820_4 2.0 /tmp/__MTEMP_95528_7036271296
3820_3
trsact: /tmp/__MTEMP_95528_70362712963820_4 ,#transactions 7 ,#items 7 ,size 12 extracted
database: #transactions 7 ,#items 7 ,size 12
output to: /tmp/__MTEMP_95528_70362712963820_3
separated at O
0 pairs are found
1,3,6, :1.000000 (0)
0,2,3, :1.000000 (0)
1,4, :1.000000 (0)
0,1, :1.000000 (0O)
2, :1.000000 (0)
:1.000000 (0)
0, :1.000000 (0)
come
input-file /tmp/__MTEMP_95528_70362712963820_3, output-file /tmp/__MTEMP_95528_70362712963
820_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95528_70362712963820_3
file read end: /tmp/__MTEMP_95528_70362712963820_3
iterative scan: #nodes=0, #edges = 0
forwardstar graph: /tmp/__MTEMP_95528_70362712963820_3 ,#nodes 0(0,0) ,#edges O
#MSG# polishing iteration #2 (tra size=6
sspc_20140215 T -1 O /tmp/__MTEMP_95528_70362712963820_4 2.0 /tmp/__MTEMP_95528_7036271296
3820_3

>
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trsact: /tmp/__MTEMP_95528_70362712963820_4 ,#transactions 2 ,#items 4 ,size 1 extracted d
atabase: #transactions 2 ,#items 4 ,size 1
output to: /tmp/__MTEMP_95528_70362712963820_3
separated at O
0 pairs are found
:1.000000 (0)
3, :1.000000 (0)
come
input-file /tmp/__MTEMP_95528_70362712963820_3, output-file /tmp/__MTEMP_95528_70362712963
820_4
degree threshold:
first & second scan end: /tmp/__MTEMP_95528_70362712963820_3
file read end: /tmp/__MTEMP_95528_70362712963820_3
iterative scan: #nodes=0, #edges = 0
forwardstar graph: /tmp/__MTEMP_95528_70362712963820_3 ,#nodes 0(0,0) ,#edges O
#MSG# converting the numbered nodes into original name ...
#END# /usr/bin/mpolishing.rb ei=datl.csv ef=nodel,node2 sim=T th=2 eo=result4.csv -indirec
t
$ more resultd.csv
nodel,node?2
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24 mtra2grb 00000000 ODOOOO

0000000000000 00000000O00000D000O0ODODO00DO (DO0ODDOO0OODODOOOOD)0OO0
00000000 30 1lem000000D00O00DOO00DDOO020000000000000000000D0O0O0
0000000000000 0000000000000000000000000000000 (support)d OO0
00000 (occurence) 00 OO0O0O0O0O0OO0DOOODOO resemblanced normalized PMIODOOOOOOOOOOO
oooooooo 2200000000000

0225 000000000000

aooad aoad ogoooad oad
support K)Lw(f’b)l s= 0.001.0
occurence |Occe(a, b)| S= 10
recemblance % sim=R th= 0.00 1.0
normalized PMI  log P}(Da()algb()b) /(—log P(a,b)) sim=P th=-1.00 1.0
_ n]Occ(a)NOce(b)] |Oce(a)NOce(b)]
= TOcc(a)[[Occ(b)] /(= log n )

n0000000000000000c¢e(a) 00000 a0000000000000000000P(e) 00000 a000000000 P(a)= Oce(a)/nD

ooo

000000000000 Omitemsetrb00000000 keyOOOOODOOODOOOODOOOO (O 2.26)00
2270 000000000000O0O0O0MCMDO0OO0O0ODN mtra00000000 keyOODOOOOOOOOO
ood

goo0o0o0ob0obOO0o0O0oOobOO0obObOO0 200000000000 DODOOODOOD 22800000000DO
2200000

0228 00000 2000000000000000
goooooodoooooooboOoooooboood

0226 keyOQoo 0227 trad00O00O (void) 00sim=000000000000D0O00000ODO
key item id item
T1 C T1T CE nodel node2 support void
T1 E T2 DEF a b 0.6
T2 D T3 ABDF a d 0.4
T2 E T4 BDF a f 0.4
T2 F T5 ABDE d b 0.6
T6 ABDEF e d 0.4
f b 0.6
f d 0.6

0220 022800000000
0000o0oooooooooo 2
goooooobooooDo
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241 OO

O0O) mtra2g.rb i= tid= item= [on=] eo= s= [sim=] [th=] [log=] [T=] [--help]

goooogo
i= : D0b0oboboooogoonoo
tid= : 00000000 1ID0O0O0O
item= : OO0OODOOO
on= : 0oooog @o)
eo= : 000000 (@:0000)
s= : 00000 (Ooooooooooooooooooooo): o0 1000000
S= : 00000 (@ooooooooooooo): 1000000
8=, 5=0000000000s=100000000DO00O0O0O0O
sim= : gog

R: resemblance
P: normalized PMI
0000 s=0000 s=s0000000o0o000oboooooooonon

th= »sim=00000000000000O0000O00O000O0000O0O00O0b00b00000bO0d
log= : 0000000000 key-valueOD OO CSVODOODOODOODODO
ooo

T= : 000000000 (default:/tmp)
--help : OOODOOO

242 000

01000
go0obO0O20000000000bO0bOobOOoOoOoOoboOoooo

$ more datl.csv
tid,item

T1,C

T1,E

T2,D

B

M

-

M

-

.

-

-

-

-

-

-

-

-

-

-

Hddd g d e g

-

DO O OTOO D DD WWwWww
TNMHOWeEHNOWE"MOW O WETME
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$ mtra2g.rb S=2 tid=tid item=item i=datl.csv eo=edgel.csv

#MSG# converting a named item into a numbered item ...

#MSG# run lcm enumerating 2 itemset ...

#MSG# creating the edge file ...

#END# /usr/bin/mtra2g.rb S=2 tid=tid item=item i=datl.csv eo=edgel.csv
$ more edgel.csv

nodel,node2, support,void

A,B,0.5,
A,D,0.5,
A,E,0.3333333333,
A,F,0.3333333333,
B,D,0.6666666667,
E,B,0.3333333333,
E,D,0.5,
F,B,0.5,
F,D,0.6666666667,
F,E,0.3333333333,

-

O 2: resemblance 0 OO
010000 resemblance] 040 0000000000000O0 no=000000000O0ODOOODOOODOOODO
gooOoooooooooo

$ mtra2g.rb S=2 sim=R th=0.4 tid=tid item=item i=datl.csv eo=edge2.csv no=node2.csv

#MSG# converting a named item into a numbered item ...

#MSG# run lcm enumerating 2 itemset ...

#MSG# creating the edge file ...

#MSG# creating the node file ...

#END# /usr/bin/mtra2g.rb S=2 sim=R th=0.4 tid=tid item=item i=datl.csv eo=edge2.csv no=nod
e2.csv

$ more node2.csv

node, support

A,0.5

B,0.6666666667

C,0.1666666667

D,0.8333333333

E,0.6666666667

F,0.6666666667

$ more edge2.csv

nodel,node2, support,resemblance

A,B,0.5,0.75

0.5,0.6
0.3333333333,0.4
0.3333333333,0.4
0.6666666667,0.8
0.
0.
0.

-

-

-

5,0.5
5,0.6
6666666667,0.8

-

-

e ey B o3 B o B
Owoommmog

-
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25 mcliquerb OO OO0OO0OOO

0000000000000 000O00D0O0O000D0O0O0O000O B)0macedDOO0ODODOODOOD

G=(V,E) 00000 VOOOD F00O0O0O0O0O0OO0DO00OO0OOVOODOO0O0O0D0D0O0oooooooo G
cobooooooocoobooobooOoOooOobocOoOobOOoO0bOobOOoOooOoOoOcOoODOOOOObOOODOOOOobOoOooOnO
oooooo (D 2.21)0

0221 00000 (1)000000000000000000 (2)00000000000(3)0 (40000
000D0000000000000000000000000 (3)0 (4)000000000000000000
0000000000000(3)0 (4)0400000000000000000 3000000000000

0000000000000 00000U0DO0DO0D0OD00O0D00OUDOODODOO 2210 (3)0 4)OOO
ooobooooooooboooooooooo0ooboboooooooooOooooDbDooooDbOoobDbOOoooooO
cobobOooooOooooboOoobooOoOoOoOoCcOoOobOOoO0O0oOoOoOooOoOoOcOoODOOoOOObOOODbDOOOoOoOoOnO
coobooooooooboooobooooooboooboboobooooooobooooDbDoOooobboOoobOoOoooooo
cobobooooooooboooboooooooooobooooooooooooooooooboOoooboo0oooonoa
coboboooooocooboooobooOooooOooOoOobooOobobooOoooboooOooOooDOOoOoOoOboOoobooOoOoooooOoo
oooooooboobooooooooooooooboooobooOoobDOobOoOoboobooDOoobooooOooobooog
0000000000000 00000DLD00O00000U0O0D0 (DOODDO0ULO0UO0OLOD0OD0DDODODOUOODO
0)00000000O0O000D0O000000O0O00DO0O00DOO0O0DOO0O0DOOO0DOOO0DODO0OODDOOO
0000000000000 [20000000000000000000D000D000D00000000O0O000OO
OO0O00000000000000 23000000 mpolishing.xb 0000000000000 O0O0COOOODO
oooboooooooobooobooooooooooooooooooooooooooooOooboooooonon
ocooooooooogd

gobooooooooooobooooooobooooo 22900000 00DO0O0DOOoO0oDOOoOoDOOoOO0OoboobDO
cSsvOoOooOooOo (0221 (l)000)00000000000O0000O0O0O00OOOOOOOoDO

goboooboooooobooooboboooob 23000000oooooooobooobooooboidabononon
0000 ID0O0O0D000D00O00O0000DO0000D00D000D0id=20000000 221(4)00000id=30
000000 221(3)00000000000000200000000000000000 {e,f}0O{b,ftODODO
O00D000D0 sizeOOOODOOOODOOOOODOOOODOOODO

251 OO

O0) mclique.rb ei= ef= [ni=] [nf=] [0=] [1=] [u=] [-all]l [-node] [-all]l [-int] [log=] [T=] [--help]

gooboooo

ei= : DO0obo0obobo

ef= : 000000 20000000 (-int00000000000oooog)
ni= : Dobooboooo

nf= : 000000000000 (0000 "node™)



2.5 mcliquerb 000000000

45

0230 0000

0229 00000 (ODODO) id nodel node2 size

o
¢}

[
[\

nodel node2

b 1 b f 2
a 2 a c 4
& ; 2 a d 4
a 2 a e 4
E ¢ 2 c d 4
b ; 2 c e 4
b ¢ 2 d e 4
d 3 a b 4
¢ 3 a c 4
; ¢ 3 a d 4
(; 3 b c 4
c 3 b d 4
3 C d 4
o= : 000000 (0000 1ID-O:-node00000C0DOO0ODOOO ID-O00O0O0O0DOO)
1= : J0d0d0000000000oo0 (oooooooooobobobobOoOobObObOoO0o0o00o0og)
u= : 0000000000000 (OO0o0b00o0o0bOo0bOo0o0oooOo0ooOoooooon)
-node : JO0OO0O0OO0OO0O ID-nodeO0OOOOOO
-all 00000 0d0ooboo0oooooooooooo
-int 0000000000000 00ooOon
log= : 0000000000 key-valueO OO CSVODOODOODOODODO

ooo
T= : 000000000 (default:/tmp)
--help : OOODOOO

252 000

01000
gobooopoooobgo

$ more datl.csv
nodel,node?2
a,b

O Q0 0 coCcOoOEEE
H O O QHQLO O Q

$ mclique.rb ei=datl.csv ef=nodel,node2 o=resultl.csv log=logl.csv

#MSG# converting graph files into a pair of numbered nodes ...

sgraph: /tmp/__MTEMP_95881_70169578268420_0 ,#nodes 6 ,#edges 11 ,#arcs O
output to: /tmp/__MTEMP_95881_70169578268420_2

iters=4

4
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N ONOO

#MSG# converting the numbered nodes into original name ...

#END# /usr/bin/mclique.rb ei=datl.csv ef=nodel,node2 o=resultl.csv log=logl.csv
$ more resultl.csv

id,node,size

0,e,2

-

-

-

-

-

-

-

-

-

WWWWNNNN R RO
QO T PO RO HOH
O O NG O N N N IO O

-

$ more cnl.csv

cnl.csv: No such file or directory
$ more cel.csv

cel.csv: No such file or directory
$ more logl.csv

key,value

ei=,datl.csv

ef=,"nodel,node2"

o=,resultl.csv

log=,logl.csv

-all,false

time,0.085455

02 000040000000000000

$ mclique.rb ei=datl.csv ef=nodel,node2 1=4 o=result2.csv

#MSG# converting graph files into a pair of numbered nodes ...

sgraph: /tmp/__MTEMP_95916_70352131156000_0 ,#nodes 6 ,#edges 11 ,#arcs O
output to: /tmp/__MTEMP_95916_70352131156000_2

iters=4

NOOOOoON

#MSG# converting the numbered nodes into original name ...

#END# /usr/bin/mclique.rb ei=datl.csv ef=nodel,node2 1=4 o=result2.csv
$ more result2.csv

id,node,size

0,a,4
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03 00003000000000

$ mclique.rb ei=datl.csv ef=nodel,node2 1=3 u=3 -all o=result3.csv

#MSG# converting graph files into a pair of numbered nodes ...

sgraph: /tmp/__MTEMP_95948_70136489403820_0 ,#nodes 6 ,#edges 11 ,#arcs O
output to: /tmp/__MTEMP_95948_70136489403820_2

iters=0

~NO OO~

#MSG# converting the numbered nodes into original name ...

#END# /usr/bin/mclique.rb ei=datl.csv ef=nodel,node2 1=3 u=3 -all o=result3.csv
$ more result3.csv

id,node,size

0,a,3

-

PRLODAPOOPARLOTALOD QLT OO
W WWWWWWWwwwwwwwwwwwww

-

G e e e e e e e e e e e .

DO TP PWWWNNNRE,RP,REP, OO
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26 mclique2grb OO0DOODOODOODOODOO

000000000000 (00MO00000000000)00000000000000*00000000
0000 (00000000000000)0000000000000000000000000000000000
000000000 22200000 4000000000000000000000000 22300000000
00000000000 22100000 {a,b,e,d} 0000 10 {d,e,f} 0000 20 {e,f,¢} 000000000
000000 30 {e, f,A}00000000

000000000000 001000000000000000000010 (d)00000000 001000
000000000 1000000000001 02000000 20 (e,f)000000001020000000
00000 20000000000000 20000000000000000020000000000

0223 00000O0C0O0OO0OO0OOOOOCOO

ooooo0oooO0o0ooo0o0ooOo0o0ooOo0oOooOb 2310000000000000IDOOODO 200
ooooOoOoOo CSvVOOOoOoooooooooooO 2500000 meliquerb00000O-node000000O00
cooooooooooooon

0000000000000 0DO0000ODO000O0O0O (0 232)00000 (0233)0000000000O0
DO000000 weight 000000000000 DOOCO0DOOO0DODOO0DODO0O0DODOO weightOOOOoOO
coooooooocooboooo

26.1 OO
00) mclique2g.rb i= [id=] [f=] eo= no= [T=] [--help]

ggooooon
i= . gO00O0ogoogo
id= : 0000 IDOOO (0OOOogd:"id")

2 00000000000000 2500000000



2.6 mclique2grb 00 DOO00O0O0OOOOO

0231 ODoOOOOO0OO

id node
0 a
0 b
0 c 0232 0OOoOoOoOooO (o 0233 0D00DODO0OO0OOOO (O
0 d D[][]D) ooo)
1 d node weight nodel node2 weight
1 e 0 4 0 1 1
1 f 1 3 1 2 2
2 e 2 3 1 3 2
2 f 3 3 2 3 2
2 g
3 e
3 f
3 h
f= : 0000000000O0O0OO0OO (OO0O0O0 :"node")

eo= : UOODOODOOO
no= : DOOOOOOOO

000
T= : 000000000 (default:/tmp)
--help : OOOODOO

262 0O0O0O

01000
goboooood

$ more clique.csv
id,node
0,a

WWWNNMNNFR, PP, OOO
B HO0M@HO HO QA O T

$ mclique2g.rb i=clique.csv eo=edge.csv no=node.csv id=id f=node

#END# /usr/bin/mclique2g.rb i=clique.csv eo=edge.csv no=node.csv id=id f=node
$ more edge.csv

nodel,node2,weight

0,1,1

:2,
53:
»3
$ more node.csv
node,weight

0,4

N = =
N NN

B
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2.7 mbicliquerb 00O OD0O0D0O0O0O0O

00000000000000000000000000000000 [3]01em000000000000
G=(ViUV,,E)00000 V,%,000000000000000000 EcV;xV,00000000000
0000V, 0000000000000000000000000000000O0O0OOO GO00000000
00000000000000000000000000000000000000000000000000000
000000 (O 2.24)0

0224 00000 (1)D00D00DOO0ODO0ODOOODOOD (2)00D000D0D0O0D0OODOO@B)OOOOO
0000000000000 0000000000D0O00O0O00D 3)0D0D0D0LD0U0DOUODDOOoOOOOo
00000000000 0000M@)0 e, DODLOOOODOOOODOOODOOO

0000000000000 D00000000000000000000D0000000000000000000
000000000000000000000000000000000000-0000000000000000
00000000000000000000000000000000000000000000000000000

000000000000000000000000000000000000000000-0000000000
0000000000000000000000000000000000000000000000000 (000
0-00000000)000000000000000000000000000

000000000000000000000000000000000000000000000000-000
0000000000000000000000

0000000000000000000000000 234000000000000000000000000
CSVOOOOOD (0224(1)000)0000000000000 23400000000000000000000
00 nodel 000000000000 D00000000000000000 nede200000000000000
000000000000000000000000000

0000000000000 00000000000 2350000000000000000000000000
000000000000000000000 nodel,node20000000000000000sizel,size200
000000 (0000)0000000500000000000 (Vi ={a,d},Va={B,C})00 2243)0000
0000

27.1 OO

00) mbiclique.rb ei= ef= [o=] [1=] [u=] [T=] [-debug] [--help]

ooooooo

ei= : JO0OOOOOO

ef=: 000000 20000000

o= : QO0OO0OODO

1= : 0J000000OCO00bOOO0oOooooag
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0234 00000 (DOOD) T

nodel node2

A

nodel node2  sizel size2

4

a ABC 1 3
& B ab AB 2 2
a © abc A 3 1
b A abd B 3 1
b B ad BC 2 2
b b b ABD 1 3
¢ A be AD 2 2
N b bed D 3 1
d B bd BD 2 2
d © d BCD 1 3
d D

rgoboobooooboobuoobbooboobboobbooobog
: DO00obo0ob0o 20b0b0000obo0ooobobobobooobog
: J0b00boobobOodb ef=000D00O0OD0DO0ODbOOn
 pgoooobobo =2,"0"1=2"0000 nul1 00000000
: 000nllO000000 ("1=2,"0"1=2"00000)0

uv= : 000000000O00O000000on
000000 1=0000000

oog
T= : 000000000 (default:/tmp)
--help : OOOOODO

272 00O

0000000000000 000000D00000 (D00D0DO0D0ODO0OD0O0O0ODOOD CSVOO)0oDOoUOooOoo
0000o0o0o0oU0o0o0ooo0o0oOoUo0oOoUo0UooOooooooMOOOOO CSVOoooooo
gogoboboooobbooobbooobbooobbooobI=0bb00w=wobbooobbboobLbboo
gbobooooog

273 00O

01000
gobooooooooo

$ more dat.csv
nodel,node2
a,A

Q0000 coToe e
OQwor0wWe=qQW
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$ mbiclique.rb ei=dat.csv ef=nodel,node2 o=resultl.csv
#MSG# converting paired form into transaction form ...
#MSG# 1lcm_20140215 CIf /tmp/__MTEMP_95686_70245679198320_0 1 /tmp/__MTEMP_95686_7024567919
8320_3
trsact: /tmp/__MTEMP_95686_70245679198320_0 ,#transactions 4 ,#items 4 ,size 11 extracted
database: #transactions 4 ,#items 4 ,size 11
output to: /tmp/__MTEMP_95686_70245679198320_3
separated at O
iters=11
11
1
3
4
3
#END# /usr/bin/mbiclique.rb ei=dat.csv ef=nodel,node2 o=resultl.csv
$ more resultl.csv
nodel,node2,sizel,size?2
a,A B C,1,3

-
-
-

-
-
-

-
-
-

-
-
-

-
-
-

-
-

-
-

QWarswWwwWwao =

-
-

Waeoomoooo

-

DooogoQwre=w
FNWNFENWWN
WNEFENWNEFE RPN

-

Qo T T o PP E

02 000000000
00 nodel,node2 000000 200000C0CCCOCOODGOOO

$ mbiclique.rb ei=dat.csv ef=nodel,node2 o=result2.csv 1=2,2 u=2,2
#MSG# converting paired form into transaction form ...
#MSG# 1lcm_20140215 CIf -1 2 -u 2 /tmp/__MTEMP_95739_70259512012180_0 1 /tmp/__MTEMP_95739_
70259512012180_3
trsact: /tmp/__MTEMP_95739_70259512012180_0 ,#transactions 4 ,#items 4 ,size 11 extracted
database: #transactions 4 ,#items 4 ,size 11
output to: /tmp/__MTEMP_95739_70259512012180_3
separated at O
iters=10
4
0
0
4
#END# /usr/bin/mbiclique.rb ei=dat.csv ef=nodel,node2 o=result2.csv 1=2,2 u=2,2
$ more result2.csv
nodel,node2,sizel,size?2
a b,A B,2,2
C,2,2
D,2,2
D,2,2

B

a d,B
b c,A
b d4,B

O3 0000000000000

00 nodel 00000000 10 (D00D0O00DD 100000000000000OO0O00ODODO)00O node2
00000000 3000000000000 0000D000w=000000 100000 NIOOOOCOO0OOD
U0 nodel 00 0O0ODOOOOOODODOOO

$ mbiclique.rb ei=dat.csv ef=nodel,node2 o=result3.csv 1=1, u=,3
#MSG# converting paired form into transaction form ...
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#MSG# 1lcm_20140215 CIf -u 3 /tmp/__MTEMP_95792_70093564374420_0 1 /tmp/__MTEMP_95792_70093
564374420_3
trsact: /tmp/__MTEMP_95792_70093564374420_0 ,#transactions 4 ,#items 4 ,size 11 extracted
database: #transactions 4 ,#items 4 ,size 11
output to: /tmp/__MTEMP_95792_70093564374420_3
separated at O
iters=11
11
1
3
4
3
#END# /usr/bin/mbiclique.rb ei=dat.csv ef=nodel,node2 o=result3.csv 1=1, u=,3
$ more result3.csv
nodel,node2,sizel,size?2
a,A B C,1,3

-
-
-

-
-
-

-
-
-

-
-
-

-
-
-

-
-

-
-

QWarswWwwWwaeo =

-
-

Waoormoooo

-

DooogoQwre=w
FNWNFENWWN
WNEFENWNDNE =N

-

Qo oC T TP PP E
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28 mgdiftrb 000000

go0b0ob0o200000000D000000000¢O

28.1 OO

00) mgdiff.rb ei= [ef=] eI= [eF=] [eo=] [mno=] [T=] [--help]

ooooood

ei= : JOOOOOO 1

ef= : 0000000 20000000 (ei=O000O00O0, 00000 :nodel,node2)

el= : 00O0OOOODO 2

eF= : eI=00 20000000 (ef=000000000000,00000:ef=00000000)
ni= : 00000000 1(ei=000)

nf= : 0000000 20000000 (mi=OO00O00,00000 :node)

nI= : 00000000 2(eI=000O)

nF= : nI=00 20000000 (f=000000000000,00000:nf=00000000)
eo= : JOODOODOO

no= : O00OOOOOOO

-dir : 0000000000

000
T= : 000000000 (default:/tmp)
--help : OOOODOO

01) 000000000000 (00000)0ei=0 0000 eI=sOO0DODODODO
0000000000000 0000000000 (ex. O a,b00 b,adO0dNmo
-dir0000000000000000

02 000000000000 (@oooo)o
U00ob0bO0Ob0ef=000D00DOO0OO0OOODOODODODODOOOOOODn
eo=J0000ODO0 ei=0 eI=s00000D0O0ODOOOOODO

03 00000ooo000ooooooooooooo

ooooo)
ei=,el=: JOOOOOOOCSVOOOOO
ni=,nI=: JO0O0OO0O CSvOODOOO

oooooo)

000001000000 200000000000 (@OCOH)DO0O00ODOOOO0OOOOO
ooo: 0o

ei rei=00000000DOOO0O0DOOOOOOOODOOODOOO

el :el=00000000O0COO0ODOOCOOOOOOOOCOODOOOO
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diff : DO0OOO
1: ei=00000000OO0OOO0O
0: ei=,eI=J0O0O0O0O0OOO
-1: eI=sJ0000OO00OOO0ODO0O

goooooo)
gobodb100booob 200b00bb0o0obooboboobooboboooboon

god: 00
ni »ni=0 0000000000000 0DbO0bO000oooon
nl :nI=000gobodboooobooboobobooog

diff : DO0OOO
1: ni=0 00000000000
0: ni=,nI=00000O0O0O0O
-1: nI=gJ0000000O0000O0

282 0O0OO

01000

$ more gl.csv

nodel,node2

a,b

b,c

c,d

$ more g2.csv

nodel,node?2

b,a

c,d

d,e

$ mgdiff.rb ei=gl.csv eI=g2.csv eo=resultl.csv ef=nodel,node2
#END# /usr/bin/mgdiff.rb ei=gl.csv eI=g2.csv eo=resultl.csv ef=nodel,node2
$ more resultl.csv

nodel,node2,ei,el,diff

a,b,gl.csv,g2.csv,0

b,c,gl.csv,,1

c,d,gl.csv,g2.csv,0

d,e,,g2.csv,-1

0200000000000

$ mgdiff.rb ei=gl.csv eI=g2.csv eo=result2.csv ef=nodel,node2 -dir

#END# /usr/bin/mgdiff.rb ei=gl.csv eI=g2.csv eo=result2.csv ef=nodel,node2 -dir
$ more result2.csv

nodel,node2,ei,el,diff

a,b,gl.csv,,1

b,a,,g2.csv,-1

b,c,gl.csv,,1

c,d,gl.csv,g2.csv,0

d,e,,g2.csv,-1
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2.9 mcliquelnforb 0000000000 OOO0O

mcliquesb 000000000000 DODODODOODOODODODOOOOOOOOOOOOOOOOOOOOOOOO
obobooooobooboobobobooooogoo

mclique2grb 000000000000 00O0O0O 225000000000000000000000OOD 400
ooo0DoO00400000000D00000000 236000 00000D0C0O0OO

023 0000000000

00000 OO0 id=1({d,e, f} 0 D)
nSize ooo 3(00d,e,f0O30)
eSize 00 (nSizex(nSize-1)/2) 3 (3%x2/2=3)
extNodes 0000000 5(0 2.270)
extEdges 000000 7(02270)
extCliques 000000000 3 (0 2.26)

0226 00000000000 22500000 id

022 000000000000000000 0000D0D00000D000000000000000

400000000 {ab,cd}(id=0)0{d,e,f}(id=1)0 id=100000030000000000000000

{e,f,g}(id=2)0 {e,f,h}(id=3) 00O DO OO 0000000000000000000000 2600
0ooooo

0227 D000 id=1(0000000000)000
000000000000 7000 (00)0000D0
id=1(0000000000)00000000000 5
ooo (oo)o

00000000000002600000 mclique2grb0000000000 231 0000000000000
IDOOOO 2000000000 CSVOOOOOOOOOOO0OOOO0OO0O0O00OODO 238000000000000
ooobog236000000000D0000

291 OO

00) mcliqueInfo.rb i= [id=] [f=] [m=] [F=] o= [T=] [--help]
i= : gooopoboobooon
id= : 0000 D000 (0000 -:"id")
f= : 0000000000000 0 (@oo000 :"node")



58

020 0000

0237 00000

id

o

W W W NN =~ +=OoOo

T= : 000000000 (default:/tmp)
oooooo

--help :

292 0O0OO

01000

node

o

= I I S = P e P o N o

goboooobgoo

0238 0OO0OO

id nSize eSize extNodes extEdges extCliques
0 4 6 2 2 1
1 3 3 5 7 3
2 3 3 2 4 2
3 3 3 2 4 2

id,node
0,a

WWWNNNFR, PP, OOO
O HO0M@ HOHOQLQQALO T

0,4,6,2,2,1

,3,3,5,7,

»3,3,2,4,
3,3,2,4

>

w N =
NN W

14 E,

$ more clique.csv

$ mcliqueInfo.rb i=clique.csv o=resultl.csv id=id f=node
#END# /usr/bin/mcliqueInfo.rb i=clique.csv o=resultl.csv id=id f=node
$ more resultl.csv
id,nSize,eSize,extNodes,extEdges,extCliques
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